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I agree with Rabi Yoisee — 59 R9°20 907 5290 NN

OVERVIEW

71 "1 said in the name of 727X 72 X7X 27 that the 71277 is like 7717 " by a 79 (that
it requires three days) and the 775977 is like 77 "1 by a on ( Pwawnn MPNT 1w 7Y
12), since I agree with "0 "1 who rules this way. M9010 explains why X"ax? K 19,
did not simply state "2 713%17.

mooIn responds to an anticipated difficulty:1
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And the reason 1" did not say simply that the 75%7 is like 5''1 of the Xn»12 is
because it is preferable for 1" to mention the 2°81n of the mwn.

SUMMARY
It is preferable to sacrifice brevity, for the credibility of the m1wn.

THINKING IT OVER
Perhaps if 1" would have merely said *01° 12 1710%7 we would have thought that by
a an a 77 of @ '3 is insufficient (it must be only 12 Pwnwnn MNP NR), therefore
he says n"12 71997 who maintains® that even 12 Pwawnn mpwn is sufficient and
certainly’ oo '3 7m.°

' See ‘Overview’.

2 It would have been much simpler to say >"73 71977 of the X012 instead of saying n2 »"3 797m 7912 >3 7297, It
is always preferable to use a more concise language.

? The statement of a 73wn carries more weight than that of a xn»92. Additionally the statements of the 2°Xin in the
m1wn were more known that that of the Xn»12.

* See yw 1"7 2,30 'on (TIE footnote # 5).

> "9 maintains the idea of a Y"p (if pri*1 then 27°p w"2). By 71711 it would seem the opposite is true that by three days
not goring is a greater proof that he is 1nwn? 7 (than one day, even if 12 Pwawnn Mpn). However according to
»"q (who does not agree to the 1"p (since he rules like *"1), perhaps he is 1n%n? 210 only if 12 Pwnwnn Mpen. [ "1
nXp XM7Y,

% See 5" Mmoo
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